4.2 — One to One Functions and Inverse Functions

- A function is one-to-one if any two different inputs in the domain correspond to two different
outputs in the range.

- A function is NOT one-to-one if two different inputs correspond to the same output.

Determine whether the following functions are one-4o-one,

{a) For the following function, the domain represents the age of five males and the
range represents thelr HDL. (good) choleaterol Gmg/dL).
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Horizontal Line Test — If every horizontal line intersects the graph of a function f in at most one

point, then f is one-to-cne.
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Finding the Inverse of a function defined by a map pAL-do-one K,Pil*"l( )

Find the inverse of the following function. Let the domain of the funetion represent

certain states, and let the range represent the state’s population. State the domain _ ‘

and the range of the Inverse fimction, (pamﬂi 0 ( 4 A/\f) (’)
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Finding the inverse of a function defined by a set of ordered pairs

Find the laverse of the following one-to-one fumction: g swikoh the X & Y
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** Domain of f = Range of f* Range of f = Domain of f*

Verifying Inverse Functions

Verily that the Inverse of f(x) = is fYx) = iv + 1. Por what values of xis
FH{f(x)) = 27 For what values 0fxisf{f“*{x}} us x7
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The following graph is one-to-one. Draw the graph of its mve?se
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Find the inverse of f{x) = Zx -+ 8, Also find the domain and range of # and f“"*
Graph f and ™! on the same coordinate axes

Finding the Inverse Function
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is one-to-vne. Find its inverse and check the result, Ng - ‘
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